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" General Instructions:
1. All questions are compulsory.
2. The question paper consists of 31 questions divided into four sections A, B, Cand D.

Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D

comprises of 11 questions of 4 marks each.
3. There is no overall choice in this question paper.
4, Use of calculator is not permitted.

] WUE-31 / SECTION-A
G WA 1 94 TS B 1 3F B '
Question numbers 1 to 4 carry one mark each.

A 2% + ky = 5, 1 @I g (<2, 1) ToRA1 8, & k =1 WF I@ S

If the graph of 2x + ky = 5, passes through the point (- 2, 1), find k.

YU x = — 1 & fohe &et €, 3 8 < =R aren wiie & w9 § = fran s

How many solution(s) the equation x= —1 has, if it is treated as an equation in two variables?

Tk = 10 T T HIC 3 58 Fafgus it |
Construct an acute angle and draw its bisector.

2R T Fl TF fFR 6 em L 1SA T A 2 em AR 9 fove w9 =9 g §2

The edge of 2 solid cube is 6 cm. How many cubes of 2 cm edge can be formed from this cube ?

@UE-d / SECTION-B
W €A 57 10 H FAF 6 23(F € |
, Question numbers 5 1o 10 carry two inarks each.

@ g sl A, ABCD G WM wie & Rl ZBAD=100°, ZADC=85",

| ZABC=y %) ¥ 8ty um Fifay ) :
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In the given figure, ABCD is a cyclic quadrilateral with ZBAD =100°, L ADC =85°, ZABC = x°
and ZABC=1". Find x and Y. _ : ; i

MNOP @+ woim =g ¥ 1 OP w =€ fig U &1 wwiy f 2
ar (gMUN)=ar (APUM) +ar (AUNO) ® 1 :
U 0

N

N ; . : ' :
i\ggg )15 a parallelogram. U is any point on side OP, Show that ar(AMUN) = ar (APUM) +ar
54 g (0] l -

N

N i
T IR THR F T R} 150° F A0 T Hifer ) : ' 2
Using ruler and compass, construct an angle of 150°.

Waﬁquﬁaw@$mﬁvﬁﬁzmmmmmum%lmaﬁmm 2"
T HITSTT |

If the circumference of the base of a solid right circular cone is 236 cm and its slant héight is 12
cm. Find its curved surface area. :

?ﬁwﬁﬁrﬁ@mﬁowa@mwu T RO T R S : 2
e a e RN | et TR P
FRAIRE _ |25 |30 (32 |63

ifehar F1d g 35 ' e

@) W W29 Y B (i) o TH Ve W gy

~ Three coins are tossed snuulta.neously 150 times with the following frequencies of dlfferent
outcomes :

Nuinber of tails 0 1 2 3

Frequency 2 |30 |32 |63
Compute the probability of getting :
(i) at least 2 tails ' (ii)  exactly one tail
Wﬁwmmﬁﬁﬁmwaﬁtﬁﬁ'r %lmﬁmﬁmm 2
&1 Weal ¥ WAZRY)

State two events such that one has probability *0' and the other has probability ‘1'. Give
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' reasons to support your answer with an example.
GuEg-H/ SECHCIN-C

Wmu‘qzonméamﬁa

Question numbers 11 to 20 carry three marks each.

| U AR S 1 U9 S 3x— 4y = umﬁmwtlmwaﬁsmmz;mfwmaﬁfml 3

eIz fF oo W fag (—4 —6) feora 1

The path of an aeroplane is given by the equation 3x—4y = 12. Represent the path graphically. Also,
show that the point (—4 — 6) lies on the graph.

Tfg (1, 10), FHIHIU 3x + by = 27 1 U & €, a1 b H1 7 Pl | 39 snera w foum v fag 3
¥ s off 9 SifeT forgs faw x=7 81

Determine the value of b if (=1, 10) is a solution of the equation 3x+by=27 Also find the
coordinates of the point on its graph for which x=7.

U WS AB=12 cm Wi 3R M 7 war # werm § O varave wa wifog ot 3
T %AB%I = & v i fafa

Draw a line segment AB= 12 cm and by ruler and compasses, obtain a line segment of length

-j: AB. Write steps of construction.

awgﬁrﬁ AB 3R CD %% O 9l 99 & 31 Sffam &, whaarqaﬁuwmwmmmi 3
fF MP=NP®| afc OM L AB3RON L DC%, @ <vizu fiF AB=CD &1

In the figure, AB and CD are two chords of a circle with centre O, mtersechng each other at P
when produced such that MP=NP. If OM L AB and ON | DC, show that AB=CD. ; :

.ﬁﬂﬁmaﬁaﬁawmmﬁgnaﬂw%l ﬁiDﬁABﬁim{%@mﬁqﬁqﬁ%ﬁﬁBE ;
ax (A Clyssar (CFD) By < B L R e,
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o mm 21931 % W% o 4 ofF ¥
Qﬂeshon numbers 21 {0 31 carry four marks each.

In flgun,, D and F are l'somts on side AE of AABE, T hrough point D a line

i

DC is drawn which

_ re . that
is . parallel to AB - and meets BE in C. Frove 2 .

ar (AACF) =ar (BCFD),
An

B C E : ; :
f w3 MR Wl gt Qe 98.56 cm? ), @ A w1 R g wifs | 3
If the total surface area of solid sphere is 98.56 cm?, then find the radius of the sphere.

ﬁﬁnwmﬁwﬁnmmwwﬁgﬁmmmmﬁm 523

51 — —

v

¥15 25 35 45 55 65
' (el 9)
Using the fo].lowmg hlstogram prepare a grouped frequency dwtnbut:on table :

-

** Frequency
L S I S <
|

w

V15 25 35 45 55 65
Time (In Minutes)

mmﬂnﬂv%wﬂumﬁfsﬁmwﬂaﬁﬁwﬁwﬁaﬁmw e

36,55, 12, 110, 14, 72, 69, 20, 18, 25, 0
ﬁm%w Treges SR TEAS A B |

The following runs were scored by all the 11 players of a cricket team dunng a match:
/55, 12,110, 3¢, 72, 69, 20, 18, 25;

- Find the mean, median and mode of the data.

WUT-E / SECTION-D
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@ 49 feu onera ¥, & g O Tl o, b 3R ¢ & TR x4y =0, x~y=0 M y=2 (FHA A 4
%@Wamﬁy%u

e

L

o
= W e

-4-3-2-1/I\1 2 3 4

1 & T 1 @ a, b 3R c ¥ 9 S w1 Yl % s @ faa dewa ot g s
Equation of three lines a, b and c in the following graph are x+y=0, x—y=0 and y=2 (may
not be written in an order).

X

= N ER

-2+
—3+
. —44

: Match the givenvequations with lines ‘a’, ‘b’ and ‘c’. ‘Also, find the area enclosed between :
: these lines.
20 aﬂwmwwmmﬁaﬁwn%wﬁﬁmwwmmﬁﬁm?y% g 10 4
st & gef @i 15 fedt & g M emn Y W g faw T 45 %, A 1 silendl ) daw w0
T Y wtew fafaw ) o8 geie 1 swere off it :
Cost of typing an English page is ¥ x and that for typing Hindi page is ¥ y. If total bill for
3 typing 10 English and 15 Hindi pages is T 45, then write a linear equation which satisfies this
data. Also draw the grapir for the equation. ' =
21 fag il e o & el =19 g0 s W AaRa o1 S =9 gR g & A9 wm W R i 4
faig . siafia o &1 A e _
Prove that the angle subtended by an arc of a circle at the centre is double the angle subtended
T by it at any point on the remaining part of the circle. :
22 wmgfaH, MNOP &R OQSN wwict wgdw &1 gvifze i
ar(AQTO) = ar{ASRN) 3
ar(ASTO) = ar(ATSN)
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* In the figure, MNOP and OQSN are parallelograms. Show that

ar(AQTO) _ ar(ASRN)

~ ar(ASTO) "~ ar(ATSN)’

AABCﬁ‘ﬂGTa‘-hAB AC 3k BC & wen-fiflg www: F, QaﬂtRsﬂm%f*"
BP= AP, AQ=AC 3R BR=CR ¥ 9iisy fiF PAQR W& wwiat wigi{s €1 4fE ar(APBR) =4 cm?
2, df gaiaR 9g4s PAQR &1 &5%a S Sifeig |

A

B R C 5
In AABC ; P, Q and R are points on sides AB, AC and BC such that BP=AP, AQ=AC and

BR=CR. Show that PAQR is a  parallelogram. If

ar(APBR)z4 cm?, find the area of parallelogram PAQR.

B R c | ; AT e

T e F Gell 1 Few o7 AT um vEEa | e w SR iy B E@a 5 ieE SR 59§ fag 4
< | sﬁﬁgﬁaﬁmaﬂﬁ%ﬁm?mmamMmma@mﬂmwmm
™ Hﬁ:wﬁaﬁaﬁwaﬁmmﬁ%mﬂmﬁwmwmﬁm% A | e :

(@) T % HSH H GBS g A |

(b) U™ =G B YelRid qea ) _ _ _
In order to promote sports in a village, Gram Panchayat of that village allocated some barren

~ land to make a playground. In order to utilise the land for playing, a cyhndncal roller of

diameter 7 m and length 14 m was used to level it. If it takes 1500 revolutmns to 1evel the

playground (rolling once), find :

(@) the area of the playground in hectares.
()  the values exhibited by the gram panchayat.

o WumaﬂmﬁmmmSF R 2 9 0 2 AR A 7 34020°%, %mﬁ‘f‘ﬂ% din
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TR 9 n2 A X Y Az foroa w1 =9 91.80 5. ¥ mﬁﬁﬁmml

The cost of papering the walls of the room 12 m long at the rate of Rs. 1.35 per m? is Rs. 340.20°
atl.:r:d the cost of matting the floor at the rate of 85 paisa per m? is Rs. 91.80. Find the height of
e room.-

% Yo H T IS 8% 154 cn? 1 So 1 €YY g S%E, IF gETE Awd @ fkrn ¥ 4
S T G I Hif |

The curved surface area of a cylinder is 154 ¢
times its curved surface area. Find the volume of the cylinder.

wﬁmﬁméﬁamﬁ@nmmﬁ?mmﬁﬁmmﬁasmﬁﬁ%mﬁaﬁﬁm 4
Wwwwﬁlmmm%

m2. The total surface area of the cylinder is three

EIRED :
@ (z|300- |600- |900- | 1200- 1500- |1800 | 2100-
) 600 [900 |1200 |[1500 |1800 2100 | 2400
foemerai
S |8 12 |14 18 10 9 4
Tfe T faenad ag=sd1 911 9L, 1 Wiehel S R ITTT feh <0 o i W :
@ AW
() T
(i) T900 & FH I
(iv) A FALII500 T

A parent has collected data of number of schools based on the monthly fees, so that he can
choose the school for admission of his child. Data is as under :

Draw a histogram and a frequency polygon for the followmg table :

Download from

Monthly | 500 | 6oo- |900- |1200- | 1500- | 1600- | 2100-
school |40 |goo |1200 |1500  |[1800 [2100 | 2400
fee (in%) iy -
Now ol g {5 a7 oy 0 |9 4
schools
If a school is selected at random, find the probabmty that the school is having :
(i) minimum fee.
(i)  maximum fee.
(iii)  fee less than T 900
_ (iv) feeisat least ¥ 1500
jg:;/ & T ARl % ¢ 1 T o STaRa 95y I :
8 -3 ARERAl
50-55 12
55-60 8
60-65 14
65-70 10
70-75 6

Class-intervals Frequency
50-65 12
55-60 8
60-65 14
65-70 10

http://jsuniltutorial.weebly.com
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'_ [70-75 [6 . i J

w—:r/sscnou E (Y UTS/Open Textl
(?ﬂqﬁﬁﬂmﬂﬁmﬁnmﬁwmmw %?m“ﬂm%)

(* Please ensure that open text of the given theme is supplied with this question paper.)
fow @l ®1 faga dael w1 g9 ®9 .
; Theme : Solving Mystery of messed up fields.
afmv: % @a ABC § WM fF 24 = 50°, 28 = 60° 3w £C = 70° %1 AR BC, ACRBAF 3

- wea-fag D,ENF & £DEF T )

In Oonkar’s field ABC, let ZA = 50°, ZB = 60° and £C = 70°. If midpoints of BC, AC and BA

are D,E and F, find angle of ZDEF.
mﬁmﬁmﬁmﬁmﬂﬂmmﬁﬁﬂmmﬁi 3

Prove that diagonals of Uttapa's field divide it into two congruent triangles :
e fF ®AA % B9 9@ gl @ we-figel # fem O tEmEve T g H 4
gufgafd w g ' .

Show that is Rehman'’s field, the line segments joining the rmd-pomis of opposite sides bisect
each other.

-00o0o0o-
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